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Calcolo I.A.P.  

• F = Frullania dilatata
• H = Hypnum cupressiforme
• O = Ortothricum affine

• I.A.P.

1
IAP = ∑ (Qi * ƒi /10)

n



CALCOLO IAP.  RILIEVO 1

R1 F H O

1 0 0 0

2 0 0 0

4 0 0 0

5 0 0 0

6 0 0 0

7 0 0 0

8 0 0 0

9 1 0 0

10 0 1 0

1 1 0+ + = 2 x Q = (2 x 1) /10 = 0,2

Q = 1



CALCOLO I.A.P.  RILIEVO 2

R2 F H O
1 0 0 0
2 0 0 0
4 0 0 0
5 0 0 0
6 0 0 0
7 0 0 0
8 0 0 0
9 1 0 0
10 1 1 1

2 1 1+ + = 4 x Q = (4 x 2) /10 = 0,8

Q = 2



CALCOLO IAP.  RILIEVO 3
R3 F H O

1 0 0 0

2 0 0 0

4 0 0 0

5 2 0 0

6 1 0 0

7 0 0 0

8 0 0 0

9 0 0 0

10 1 1 0

Q = 1

4 1 0+ + = 5 x Q = (5 x 1) /10 = 0,5



CALCOLO IAP.  RILIEVO 4
R4 F H O

1 0 0 1

2 0 0 0

4 0 0 0

5 1 0 1

6 1 0 1

7 2 0 1

8 3 1 1

9 3 2 1

10 3 3 1

Q = 2

13 6 7+ + = 26 x Q = (26 x 2)/10 = 5,2



CALCOLO IAP.  RILIEVO 5
R4 F H O

1 0 0 0

2 0 0 0

4 0 0 0

5 0 0 0

6 0 0 0

7 0 0 0

8 0 1 0

9 1 1 0

10 2 3 0

Q = 1

3 5 0+ + = 8 x Q = (8 x 1)/10 = 0,8



CALCOLO IAP.  RILIEVO 6
R4 F H O

1 1 0 1

2 0 0 0

4 0 0 0

5 0 0 0

6 2 0 0

7 0 0 0

8 0 1 0

9 0 2 0

10 1 3 0

Q = 2

4 6 1+ + = 11 x Q = (11 x 2)/10 = 2,2



I.A.P.

• Rilievo 1.     0,2 
• Rilievo 2.     0,8
• Rilievo 3.     0,5
• Rilievo 4.     5,2
• Rilievo 5.     0,8
• Rilievo 6.     2,2
• TOTALE.       9,7 / 10 = 0,97


